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ERRATA IN THE THIRD EDITION OF DEMOGRAPHY

Page 31, line 4, (see Section 7.1) should be (see Section 7.4.1)
Page 76, linesland 2, the® > " in both equations should be“ <
Page 176: Change Exercise 6-41 to read asfollows:

If the annud birth rate was 1000 in a certain population a the beginning of the
year 1700 and 40,000 at the beginning of the year 1950, find ... .

(The answer and solution are correct.)

Page 209, Exercise 7-18: % should be %

Page 272: Answer to 7-18 should be 20
Page 228, last paragraph, line 6, $61,700 should be $62,700

Page 255, T7g should be 396,726



